	King Fahd University of Petroleum and Minerals

	Department of Mathematics and Statistics

	Math 260 Quiz5 + Quiz6

	Semester II, 2010- (092)

	Dr. Faisal Fairag


	Group NO:
	16

	Sec:
	4


Group Members

	No
	ID
	Name

	1
	
	(coordinator)

	2
	
	

	3
	
	

	4
	
	

	5
	
	


	Q
	
	Points

	1
	
	

	2
	
	

	3
	
	

	4
	
	

	5
	
	

	6
	
	

	7
	
	

	8
	
	

	Total
	
	



Say Bismillah & Good luck 
	(1) Find the solution of the linear system in vector form.
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	(2) Write  u   as  a linear combination of  v1, v2 and v3:
	

	
	

	u=[ 16;16;1;0 ],   v1= [1;1;0;0],   v2=[-1;0;1;1],   v3=[1;3;3;2]
	

	


	(3) Find the value of  k  so that the matrix A   is row equivalent to the identity matrix I.


	A=[1,0,1;0,1,k;2,1,16]
	

	


	(4) Write  the matrix  A  as a product of elementary matrices.


	A=[2,1;3,2]
	

	


	(5) Determine whether the vectors  v1,  v2,  v3  are linearly independent or dependent. If they are linearly independent , show this. otherwise find a nontrivial linear combination of them that is equal to the zero vector.


	v1=[1;2;3;4]   v2=[0;1;0;0]     v3=[1;2;4;5]
	

	


	(6) (True or False)

Let  A  be an nxn invertible matrix and let   E1 and  E2 be an nxn elementary matrices.  If   B = E1 * inv(A) * E2  * A^2  then the matrix A is row equivalent  to the matrix  B.              ( . . . . . . . )

(Justify your answer )


	
	

	


	(7) Let  D  be a  12x12  matrix.
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  where    
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    then  find   det(D)


	
	

	


	(8)   True   or   False.


	
	[1]
	Any set of more than  n  vectors in  R^n  is linearly dependent
	(T)   (F)

	
	[2]
	The vectors  v1, v2, … , vk are linearly dependent if and only if one of them is a linear combination of the others
	(T)   (F)

	
	[3]
	Any subset of a linearly independent set  S = {v1, v2, … , vk}  is a linearly independent set of vectors.
	(T)   (F)

	
	[4]
	Any set of less than  n  vectors in  R^n  is linearly independent
	(T)   (F)

	
	[5]
	Let v1 and v2 be vectors in R^5 and let v3=2*v2-v1, v4=2*v1-v2.  Let  W1=span{v1,v2}  and W2=span{v3, v4} then  W1 = W2
	(T)   (F)

	
	[6]
	In  R^4,  Span{e1, e2} = Span{v1, v2} where e1 and e2 are basic unit vectors and   v1=[1;1;0;0], v2=[-1;1;0;0].
	(T)   (F)

	
	[7]
	If  E is an elementary matrix of size 5x5 then the columns of the matrix E are linearly independent vectors in R^5.
	(T)   (F)

	
	[8]
	If E is an elementary matrix then  E^T  is also an elementary matrix.
	(T)   (F)
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